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logarithm. V , Vy-Daten uy=(A — 550) / 502 logarithm. V , Vo-Daten uy=(A — 550) / 502 logarithm. V , Vo-Daten uy=(A — 550) / 502 logarithm. V , Vo-Daten uy=(A — 550) / 502
logV =(logM+loglLo)/2 logV o= -0,35L)\—u ]2 logV =(logVi+loglLo)/2 logVi,= —0,35u)-u ]2 logV =(logV+loglLo)/2 logVi,= —0,35u)\—u ]2 logV =(logV,+logLo)/2 logVi,=—0,35u)-u ]2
logVo =logV + 0,02 logL, = -0,35l)\—Uus7 [llogV, =logV. + 0,02 logLo = —0,35[u\~Us7q logV, =logV +0,01 logL, = -0,35U)\—Uus7] [MlogV, =logV. + 0,01 logLo = —0,35[)\—Us7q
log [Vo, V , Mo, Lo] Adaptation: A, =557 log [Vo, V , Mg, Lo] Adaptation: A, =557 log [Vo, V , Mg, Lo] Adaptation: A, =557 , Lol Adaptation: A, =557
557570 raximum 557570 maximum
maximum 2 log(L m)=-0,02 Y maximum log(Lm)=-0,01
log(L m)=-0,02 Lm=0,95 log(L m)=—0,01 Lm=0,95

L m=0,95 Schwelle L m=0,95 Schwelle

Schwelle = | Schwelle
ta=0,00 —1:

-Daten uy=(A — 550) / 502 ithm. ©, © -Daten uy=(A — 550) / 50 ithm. © , © -Daten uy=(A — 550) / 50 ithm. © , & -Daten uy=(A — 550) / 502
+logM)/2log = -0,35\-u ]2 =(log +logMy)/2log =-0,35u\—u ] =(log +logMy)/2log =-0,35u\—u ] +logMy)/2log = -0,35u\—u ]2
+ 0,08 log o= —0,35)~Us.] =log~ +0,08 logM o= —-0,35[u\~Us.] =log~ +0,07 logV o= —0,35)\~Us4] = +0,07 logM o= —0,35)\~Us.]
| Adaptation: A ,=520 ) Adaptation: A ,=520 . Adaptation: A ,=520 : Adaptation: A ,=520

maximum maximum
maximum log(L m)=-0,08 maximum log(L m)=-0,07

log(L m)=-0,08 Lm=0,81 log(L m)=—0,07 Lm=0,83
L m=0,81 Schwelle Lm=0,83 Schwelle

Schwelle 10,00 Schwelle 10,10
ta=0,00 1a=U,1u
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uy=(A — 550) / 502 ithm. -, © -Daten uy=(A — 550) / 502 ithm. © | uy=(A — 550) / 502 ithm. © , & -Daten uy=(A — 550) / 502
+logM)/2log = -0,35,\-u ]2 =(log +logM)/2log =-0,35u\—u ]2 +logM)/2log = -0,35\-u ]2 =(log +logM)/2log =-0,35u\—u ]2
+ 0,08 logV o= =0,35l)~Us4] =log~ +0,08 logM o= —0,35[u\—Us.] +0,07 logV o= —0,35L)\~Us4] =log~ +0,07 logM o= —0,35)\~Us.]
| Adaptation: A ,=520 : Adaptation: A ,=520 . Adaptation: A ,=520 Adaptation: A ,=520
maximum maximum
maximum log(Lm)=-0,08 maximum log(L m)=-0,07

log(Lm)=-0,08 Lm=081 log(L m)=-0,07 Lm=0,83
g(:oT)l Schwelle Lf:(:[fgg Schwelle

Schwelle t=0,00 Schwelle 010
ta=0,00 =0, Iu

IMg—-1=2[( /G))-1] M=1=2[( /©)-1]
d =1=2[(M/ 5 )-1] /  —1=2[MJ/G.)-1]
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. L ,L,-Daten uy=(\ — 550) / 502 logarithm. L , L,-Daten uy=(\ — 550) / 502 logarithm. L , L,-Daten uy=(\ — 550) / 502 logarithm. L , L,-Daten uy=(\ — 550) / 502
logL =(log©.+log )/2 log® =-0,35u)\~-u ]2 logL =(log . +log )/2 log© =-0,35uy\-u ]2 logL =(log . +log )/2 log® =-0,35u)\-u ]2 logL =(log©+log )/2 log© =-0,35uy\-u ]2
logL,=logL +0,35 log- =-0,35u\—u ] QllogL,=IlogL + 0,35 log: =-0,35u\—u ] logLo=logL + 0,30 log =-0,35u\—u ] QloglL,=IlogL + 0,30 log: =-0,35u\—u ]
log [Lo, L, Co,s Adaptation: A. =570 log [Lo, L, G0, Adaptation: A =570 log [Lo, L, Co,y Adaptation: A. =570 log[Lo, L, Co, Adaptation: A =570
maximum maximum

o maximum log(L m)=-0,35 05 T = log(L m)=-0,30

J > log(L m)=-0,35 Lm=0,44 | 10g(L m)=—0,30 L m=0,49
Lm=0,44 Schwelle 9 Schwelle
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TUB-Prufvorlage CGL6; Elementar-Farbensehen; Schwgtl@ @0 (links) und 0,10 (rechts), EOO
log[Empfindlichkeiten], lin[DifferenzenLMS-R2%(545,557,570), (495,520,545), (470,520,570)
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